NDA (GAT) SAMPLE PAPER

Timing: 150 minutes

M.M: 600

DIRECTION (1-5): In each of the items in this section, there
is a sentence of which some parts have been jumbled up.
You are required to rearrange these parts which are
labeled P, Q, R and S to produce the correct sentence.
Choose the proper sequence and mark in your Answer
Sheet accordingly.
1.  He (P)/ almost (Q)/ planned the entire strategy of
operation(R)/ single handed (S).
The correct sequence should be
@RsSPQ (b)PRQS
(c)sQRrp (d)aPsRr
2. itis afact that rice is one of the most prolific (P)/
than almost any other crop(Q) / yielding a greater
return per acre (R)/ of food crops (S).
The correct sequence should be
@sRrRQP (b)RPSQ
(c)QRspP (dPSRQ
3. uptothe end of the eighteenth century, not only
because it was often fatal, (P) / smallpox was a
particularly dreaded disease (Q) / but also because
those who recovered (R) / were permanently
disfigured (S).
The correct sequence should be
(@ PQRS (b) QRSP
(c)PRSQ (d)QaPRs
4. aperson bitten by a rabid dog (P) / would be seized by
violent symptoms (Q) / after an incubation period of a
month or two (R) / and die an agonizing death (S).
The correct sequence should be
@PRSQ (b)SRQP
(c)PRQS (dPQRS
5. The traveller, sat down (P) / to rest (Q) /by the
roadside (R) / being weary (S).
The correct sequence should be
(a) PQRS (b) RSPQ
(c) SPQR (d) QRPS
DIRECTION (6-15): Each question in this section has a
sentence with three underlined parts labeled (a), (b) and
(c). Read each sentence to find out whether there is any
error in any underlined part and indicate your response in
the Answer Sheet against the corresponding letter i.e., (a)
or (b) or (c). If you find no error, your response should be
indicated as (d).
6. (a) | waited
(c) with growing unease
7. (a) ido not understand why
(b) in spite of my best efforts to please him
(c) my boss is so angry at me
(d) No error.
8.  (a) Being a rainy day
(b) we did not feel like going out or doing anything

(b) for her return
(d) No error

(c) except playing chess in our room

(d) No error.
9. (a)itis not difficult to believe that a man

(b) who has lived in this for a long time

(c) he will never feel at home anywhere else in the

world

(d) no error
10. (@) although we reached his house on time

(b) he was left

(c) for the airport

(d) no error
11. (a)if athing

(c) it is worth done well
12., (@) all the boys

(c) well in time for lunch
13. () tell me the name of

(b) a country where every citizen is law-abiding

(c) and no trouble is there

(d) no error
14.  (a) considering about these facts

(b) the principal has offered

(c) him a seat

(d) no error
15. (@) his friends feel that

(b) he will be suspended

(c) unless he does not report for duty immediately

(d) no error
DIRECTION (16-20): In this section, you have two short
passages. After each passage, you will find some questions
based on the passage. First, read a passage and answer the
questions based on it. You are required to select your
answers based on the contents of the passage and opinion
of the author only.
PASSAGE — |
When Jonathan (the seagull) came, it was well after dark,
and he floated in moonlight on the surface of the ocean.
His wings were ragged bars of lead, but the weight of
failure was even heavier on his back. He wished, feebly,
that the weight would be just enough to drag him gently
down to the bottom and end it all. But soon he came back
to normal. He pushed wearily away from the dark water
and flew towards the land, grateful for what he had
learned about work- saving low-altitude flying.
16. The word ‘wearily’ means

(a) Tireless (b) Exhausted

(c) Sadly (d) Unconscious
17. The seagull suffered because

(2) he had tried to do something that other seagulls

had not done.

(b) probably he had been attacked by a stronger bird.

(c) Probably he had been attacked by some strong

creature in the sea.

(b) is worth doing at all
(d) no error
(b) returned back home
(d) no error
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(d) He had swooned and fallen into the water
‘His wings were ragged bars of lead’ means that
(@) his wings were damaged and supported by bars of
lead
(b) his wings were damaged and therefore very heavy
(c) he had rags and bars of lead on his wings
(d) his wings were broken like pieces of lead.
The lesson that he had learnt that day was about
(a) Not fighting with stronger birds.
(b) Flying carrying bars of lead on his wings
(c) Dying too deep into the sea
(d) Flying at low altitudes
PASSAGE — ||
Vacationing on a motorcycle, you see things in a way that
is completely different from any other. In a car you are
always in a compartment, and because you are used to it
you do not realize that through that car window
everything you see is just more TV. You are a passive
observer and it is all moving by you boringly in a frame. On
a motorcycle, however, the frame is gone. You are
completely in contact with it all. You are in the scene, not
just watching it anymore, and the sense of presence is
overwhelming.
20. The writer likes travelling on the motorcycle. What is
the most likely reason for this?
() The motorcycle has no windows
(b) The motorcycle does not go as fast as a car
(c) As the traveler is used to cars, travelling by
motorcycle is a change
(d) Travelling by motorcycle, the writer feels that he
is part of the scenery
DIRECTION (21-25): In this section, each of the following
sentences has a blank space and four words are given
below it. Select the word or group of words you consider
most appropriate for the blank space and indicate your
response on the Answer Sheet accordingly.
21. Inthis University, thereis no........... for awarding
scholarships on the basic of merit in examination

18.

19.

alone.
(@) precedent (b) opportunity
(c) chance (d) possibility
22. Canyou pay ......... all these articles?
(@) Out (b) Of
(c) For (d) off
23. He may not come, but we’ll get ready in case he
(@) May (b) will
(c) Shall (d) does
24. Heis quite .......... ; you can never count on him in
matters of secrecy.
(a) Unjust (b) Unbearable

(c) Inefficient (d) Unreliable

The Governor will ....... the oath of office to the thirty-
five new ministers at 9.30 p.m. tomorrow.

(@) Confer (b) Present

(c) Execute (d) Administer
DIRECTION (26-35): In the following questions four
alternatives are given for the idiom/phrase CAPITAL

25.

2

LETTERS in the sentence. Choose the alternative which
best expresses the meaning of idiom/phrase.

26. Don't THRUST YOUR NOSE into my affairs.
(a) Advise me about (b) Be in opposition
(c) Deal with (d) Meddle officiously in
27. He visits the doctor OFF AND ON.
(a) everyday (b) regularly
(c) never at all (d) occasionally
28. The recent film "Secular India" has tried to keep the
pot of Muslim women's Bill BOILING
(a) Earning enough to keep body and soul together
(b) Keep a controversy alive
(c) Boil the bill
(d) Boil something in a pot
29. The robber TOOK TO HIS HEELS when the police
arrived.
(a) opened fire (b) hid himself
(c) ran off (d) surrendered
30. You cannot HAVE YOUR CAKE AND EAT IT TOO.
(a) Enjoy forever
(b) Have it both ways
() Run away from responsibility
(d) Absolve yourself of guilt
31. The rebels HELD OUT for about a month
(a) waited (b) retreated
(c) bargained (d) resisted
32. The new economic policy is LIKELY TO RUN INTO
ROUGH WEATHER.
(a) create problems
(b) encounter difficulties
(c) confuse matters
(d) makes things difficult
33. The old father BROUGHT home the moral of unity by
asking each of his sons to break the bundle of sticks
(a) emphasised (b) voiced
(c) declared (d) suggested
34. If you give John all your money, you are likely
to BURN YOUR FINGERS.
(a) be unhappy (b) be happy
(c) suffer (d) beiill
35. lam sure they will fight TOOTH AND NAIL for their
rights.

(a) with all their might

(b) without any other weapon

(c) resorting to violence

(d) very cowardly
DIRECTION (36-40): In questions given below out of four
alternatives, choose the one which can be substituted for
the given word/sentence.

36. Incapable of being seen through
(a) Ductile (b) Opaque
(c) Obsolete (d) Potable
37. One who does not care for literature or art
(a) Primitive (b) llliterate
(c) Philistine (d) Barbarian
38. A large sleeping-room with many beds
(a) Bedroom (b) Dormitory
(c) Hostel (d) Basement
39. Continuing fight between parties, families, clans, etc.
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(@) Enmity (b) Feud

(c) Quarrel (d) Skirmish
40. A building for storing threshed grain

(a) Hangar (b) Dockyard

(c) Store (d) Granary

DIRECTION (41-45): In the following questions choose the
word which is the exact OPPOSITE of the given words.

41. FAMOUS
(a) Disgraced (b) Unknown
(c) Evil (d) Popular
42. ABSOLUTE
(a) Deficient (b) Faulty
(c) Limited (d) Scarce
43. FRUGAL
(a) Copious (b) Extravagant
(c) Generous (d) Ostentatious
44, INSIPID
(a) Tasty (b) Stupid
(c) Discreet (d) Feast
45. ABLE
(a) Disable (b) Inable
(c) Unable (d) Misable

DIRECTION (46-50): In the following the questions choose

the word which best expresses the meaning of the given

word.

46. RESTRAINT
(@) Hindrance
(c) Obstacle

(b) Repression
(d) Restriction

47. DEIFY
(a) Flatter (b) Challenge
(c) Worship (d) Face

48. HARBINGER

() Messenger (b) Steward

(c) Forerunner (d) Pilot
49. VENUE
(@) Place (b) Agenda
(c) Time (d) Duration
50. CANDID
(a) Apparent (b) Explicit
(c) Frank (d) Bright
51. A compass needle cannot be used to detect /Tch
HEUTH hT S T TehEehT Tl ofaTTel o foTT SEAHAT
TeT TohaT ST ThT &2
(a) Magnetic North-South direction/ﬂﬁ@l’q3c?—|1-
fayor fgam
(b) Polarity of a magnet/ WQW@I’W
(c) Strength of a magnet/ ua:gw@r ot
(d) Direction of magnetic field/ ﬂmm@l’ﬁ(i’ﬁ
52. Indicate the false statement about the resistance of a

wire /e AR & GTANY & SR H ITeld Yl &I 3fad
Gory

(a) It depend on material of wire/%ﬂﬂ?qaﬂq?
IGELCEGINS

(b) It is unrectly proportional to the length of wire/ Jg

3

53.

54,

55.

56.

57.

AR &1 oS 3 e amefas §

(c) It is directly proportional to the area of cross-
section of wire%ﬁ?ﬁﬂwumwa?ﬁ'ﬂ'
AT &

(d) Resistance of metallic wire increases with increase
in temperature/Wﬁﬂ‘@’?mﬁﬂq*Hﬂaﬂ
iR Sedre

For which of the following substances, the resistance
decreases with increase in temperature? /fAFA T &d

crarelt 3 2 Raverds eTaer ¥ T 35 wrer SRt ot g1
ST g?

(a) Pure silicon/ ?EWH

(b) Copper/ dTaT

(c) Nichrome/ foispiaT

(d) Platinum/ TolfesTa

The ratio of intensity of magnetisation to the

magnetisation force is known as /Waﬁfmaﬂ
Heehed Sof & YT o b &9 H AT ST 82

(a) flux density / FelsFd Yolcd

(b) susceptibility / FagsTfTerdr

(c) relative permeability/waﬁﬁ

(d) none of the above/ﬁﬁﬁﬁéﬂﬁ'

When a bar magnet is cut into two equal halves, the
pole strength of each piece /EE’WW@WE\TW

feell & 1T ST, it Scdish gohs 1 4a A
(a) Becomes doubIe/?T«:‘-"fE’fGIT(-'FT%L

(b) Becomes haIf/mETEFﬁ'%'

(c) Becomes zero/Q]:FQTETGrrEﬁ%}

(d) Remains the same/THTT &l &

A closed surface has ‘n’ electric dipole located inside it.
The net electric flux emerging out of the surface-

Teh S Hag # ‘v’ faega gfaya §| adg A ame

fAeheral aTer W€ ey d yare fohde grame
(a) ne/gy (b) 2e/g
(c) 2ne/gg (d) zero /[T

In electromagnetic induction, the induced charge does

not depend on — WWWﬁ, aRa arer
fore o fAeR gt atar & -

(a) Change in flux / 9dTg & S&olTd

(b) time of change of magnetic flux / WW?
afkadel &1 aF T

(c) Resistance of Coil / Tgh apT faer

(d) None of the above /33 & IS TT
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58.

59.

60.

61.

62.

63.

64.

65.

Lenz’s law is a consequence of the law of conservation
of - /eleTat T folH o T&TUT oh ShleTat Rl
T qROTHE

(a) Charge /=IToT (b) Momentum / 31Tt

(c) Energy / Sl (d) Mass/gecdHAT

A magnetic field can be produced by- /WW&%‘:[

ford & a1 3caTfee fonaT ST HehcT &

(a) A moving charge only /aTferefYer =met

(b) A changing electric field only / Fao gRafde=r
facgaar

(c) Both (a) and (b)/a¥T (a) 3R (b)

(d) None of the above /378 & HIS g1

The unit of electrical resistance of a conductor is-

Teh TToTeh o e el TTcRIeT & SehTs &-

(a) fared /B8 (b) volt /dTee

(c) ampere / TFIIX (d) Ohm /301g#

White light is made up of seven colors. What is the
method of separating the colors? /HIBEH'ISEWUIT

 Feil GIcil §. TITT T 37cTeT ke hl AT F AT 2

(a) By passing it through a prism / 38 [0od & &
&

(b) By filtration / ﬁ'sqa?raﬁm

(c) Can’t be separated / 3TT3T sTal TehdT ST HehdT

(d) Both (a) and (b)/(a) 3R (b) QT

Retina of the eye is comparable to which of the
following parts of a traditional camera? /3G T AT

R S 3 PrTarad et & qee
(a) Film / e (b) Lens / oI

(c) Shutter / TeX (d) Cover /ehd

The filament of an electric bulb is made of

faegd sod 1 hemaie fohd @ =T glar g?

(a) copper/dET  (b) Aluminum /Wﬁw
(c) lead /o5 (d) tungsten / ITECT

Which mirror is used as a rear view mirror in the

vehicles? /aTgett R = R & & 3 vy o
3OART AT AT 87

(a) Plane / GHdT

(b) Convex / 3cdel

(c) Concave / 3Tddel

(d) Plano concave / Tl 37adel

The reason of mirage is /ﬁﬁTIGI'EFI'?ﬂTUT?':

(a) Interference of light / FehTRT T §EA&TT

(b) Diffraction of light / YehTRT T faacieT

(c) Polarization of light / W%TWWUT

4

66.

67.

68.

69.

70.

71.

72.

(d) Total internal reflection of light / W?TEI’@W»I’
KiISIECAIGIEL

To hear a clear echo, the minimum distance should be
/T Tqse 3T/ Glataia ool & faw, 7=gaAaa glr
fehc=i gt =migw?

(a) 165 feet / PIe (b) 165 metre / HIeX

(c) 16.5 feet / PIE (d) 16.5 metre / #IeX

A cut diamond sparkles because of its

Teh TR 3T ERT ol T T & T &7

(a) hardness / FARAT

(b) high refractive index / mmﬁmw

(c) emission of light by the diamond /éﬁ'a\ﬂﬂTWﬂ'QT
& 3ol

(d) absorption of light by the diamond /@?G\H'RT

ThTel ST HGLNYOT
Butter paper is an example of ........ object.

(a) a transparent / IReTh

(b) a translucent / greeeft

(c) an opaque / 39REfT

(d) a luminous / IehIAHATT

A vibrating body /WWFIT@"B—]T MR

(a) will always produce sound / §HRIT €aTa 3cTeaT
FHLIT

(b) may or may not produce sound if the amplitude of
vibration is low / @9eT T 3TTITH &h& glet UX €afer
3ot Y Y Hehell & 3R 81 87

(c) will produce sound which depends upon frequency

/ €T 3ot I Y I Feed TR IR AT &
(d) None of these /38 § SIS TG

The special technique used in ships to calculate the
depth of ocean beds is /FETHIRT &Y IgTg T IVTAT
o fore STgTsit & 9 fa ceheileh T &2

(a) LASER
(b) SONAR

(c) sonic boom / ‘i—ﬂﬁ'a‘\ﬂ'

(d) reverberation / 9faeafer

Mercury thermometers can be used to measure
temperature up to /ferdel ATIHAT &l ATI & forw

ORT AHTHIET &7 39AN9T fHaT ST HheT &
(a) 260°C (b) 100°C
(c) 360°C (d) 500°C

The temperature of a gas is measured with a
3 T ATIHATS TehEeh GaT AT ST 82
(a) platinum resistance thermometer / cifeaTd

gfarer AT
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73.

74.

75.

76.

77.

(b) pyrometer / 9rSUHTEY
(c) gas thermometer / 31T AT

(d) vapour pressure thermometer / arsg g1e gHTH T
The temperature of the sun is measured with

REIRINEIC) o | HAT AT &
(a) platinum thermometer / Tl festeT aaATeex
(b) pyrometer / 9SIHTEY

(c) gas thermometer / 31 AT

(d) vapour pressure thermometer / arsg g1e TATHeT
Fahrenheit scale divides two fixed points into

BRAGISE Tehel & T TRerc foig3it ot fonciet arrar &
S aare

(a) 180 parts /180 HTIT (b) 212 parts /212 &T4T
(c) 100 parts /100 14T (d) 32 parts /32 HATdT

SI unit of heat is /3SHT FT S| SHIS FATE?

(a) Calorie / &Y

(b) Joule / Siter

(c) Kelvin/ Shfedel

(d) None of these/ 318 T IS gl

The law enforcement agencies use a chemical test to
approximate a person’s blood alcohol level. The
person underpinning the test blows into the
mouthpiece of a bag containing sodium dichromate
solution in acidic medium. A chemical reaction with
ethanol changes the colour of the solution from

[T Facet UoH Tl saferd & Tord # 2RI &
TR I HAAAT A oh foIT Uh T feieh glreror
&1 3YAT AT ¢ | Fore caferd 1 aaToT gl W8T & a8
IFNT ATETH H WfETA STShEe AT arel 391
o HGYT H GeelT ¢ | $UeTo o H1Y Teh T
STATHAT & FHTHT T LT 9o ST

(a) orange to green / AR AT

(b) orange to colourless / AR T IETEIT

(c) yellow to orange /YT & AR

(d) colourless to orange /T3TaIeT & AN

Scuba divers are at risk due to high concentration of
dissolved gases while breathing air at high pressure
under water. The tanks used by Scuba divers are filled

with /9Tell o AT 3T GalTd TR HIH o A7 a7 4T
ohT ST Hieicll oh RO Eehell INATERT T TeRT Bl
€| T IMNATERT GaRT SETATS fehT a0 &b foha &
M EA&?

(a) air diluted with helium/@ﬁmmﬁaq

(b) 0,
(c) N,

5

78.

79.

80.

81.

82.

(d) a mixture of N, and helium / N, 3R gIferzer &1

TrsoT
Which one of the following is not needed in a nuclear

fission reactor? /Wﬁ@gﬁwff
fArafafaa & & g smaegeaar A2t gl &2

(a) Moderator / HEIEYT  (b) Coolant / 2fideleh
(c) Accelerator / cdlh (d) Control device /
far=oT IgeRtoT

When items or jewellery made of metals such as
copper or nickel are placed in a solution having a salt

of gold, at thin film of gold is deposited by /ST& dTs AT
foeher ST T3l & S FTATET I7 3TS[NOT &l Ao
AT 9Mes & °leT 7 TWT SATAT 8, A Hiet T Iedell
fora & carT AT R AT 82

(a) cooling to below 0°C/ 0 f33fr Afcaad & == 331
(b) heating above 100°C / 100 f33ff Afeqaq & I
gifear

(c) passing anelectric current / WWWW
CXGI

(d) just keeping it for 10 min / 3 hadl 10 Al &
T @A W

Heavy water implies /3TRY 9T=iY T 3727 &7

(a) water which is used in heavy industries such as
thermal power plants / qToiY 1Y o 219l uTay Tote
S HIRY ST H 392N fomar ST &

(b) water which contains 5042_ and Cl™ of calcium

and magnesium / 9Tt ToGH Shiora# 31k
Hehfa &1 50,2 3R Cl- grarg

(c) deuterated water / '5\'2[&'1?33[?

(d) water which has maximum density/m?ﬁ'ﬁ'\q?ﬁ'
T Helcd gl

Which one among the following is a sin smelling agent
added to LPG cylinder to help the detection of gas

leakage? /3 REATT &7 IAT ST F FASE el & ToIT
5T 7 q SleT 11 Teh Tl Hgeh Usic Terdish [Aelsy
A ST STt &2

(a) Ethanol /3?:'!?-I=|JT~|'

(b) Thio-ethanol / fA31 sAATeT

(c) Methane / H1dT

(d) Chloroform / FARIBII

A body is charged negatively. It implies that /Tch MR

TR APRIcHS IToT & | SHHT A ¢ fob-
(a) it has lost some of its protons/gﬂﬁﬁqﬁiﬂ
grelaarfeug

(b) it has acquired some electrons from outside / sﬂ?—T
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83.

84.

85.

86.

87.

88.

T Y T SeFIaAl b1 JTATET T &

(c) it has lost some of its electrons / sﬂﬁmﬁiﬂ
Solarelall ol @ fear g

(d) None of the above /3578 & HIS g1

Which one among the following metals is used for
making boats because it does not corrode by sea

water? /ﬁmﬁ@aﬁﬂ%ﬂ@mmﬁmm
ATt o feTT foham ST & e I8 Fge b a1eit &
TG ITeTell &7

(a) Tungsten / EITEEaT (b) Nickel / felerer

(c) Antimony / TETHAT (d) Titanium /E'Eé'ﬁ?ﬂ?
Contact lenses are made from /ﬁﬁ%ﬁ'\qﬁ"_\q'\q’
TAET&?

(a) polyvinyl chloride / ATl TdsTTS of FARTSS

(b) polystyrene / ATl ECTSAT

(c) Lucite /e[dTSE

(d) Teflon / EFellel

Water is a good coolant and is used to cool the

engines of cars, buses, trucks etc. It is because water
has a

qTedY Ueh 31T M doteh & 3R SHRI 3UA HR, 54T,
Zant 3TTE o STt I ST e o [l T fRAT ST & |
VAT 3afeIT § Fifeh arell &

(a) high specific heat / 3Ta faferse Fsar

(b) low surface tension | [&= gag aaa

(c) high boiling point / 3T FdUaTeh

(d) Teflon / CFSATeT

An a-particle consists of which of the following?
Teh o- 0T A rafaf@a & G aargiars?

(a) 2 protons and 2 neutrons /2 oreieT 3 2 FZI{@T’H
(b) 1 proton and 1 electron /1 Fiere 3R 1 soicl'g;fo-l
(c) 2 protons and 4 neutrons/ 2 qrelaT 3 4 @@'ﬂ

(d) 1 proton and 1 neutron /1 Welel 3R 1 rq‘\g\fc-l
Which one of the following substances is made from

natural raw materials? /ﬁmﬁ@aﬁ@rﬁamwﬁ

STehTcieh deel Hiel & TA1g?

(a) Rayon / {TeT (b) Nylon / ST eiteT
(c) Polyester / gifereeex (d) Polystyrene/
Tl T

Which one of the following metals is less reactive than
hydrogen? /ﬁmﬁﬁaﬁﬂﬁﬁzﬁma@mﬁ
HH fparehia 2

(a) Barium /aR&HA  (b) Copper /&M

(c) Lead / &3 (d) Magnesium / HIHIRITHT

89.

90.

91.

92.

93.

94.

95.

96.

97.

98.

99.

100.

What is the purpose of adding baking soda to dough?
/3TET F SfehaT BIST FAdT &l 387 AT 8?

(a) To generate moisture / sTHT YgT HLat o oI

(b) To give a good flavor / Teh 3TTST TATG ¢of & flT
(c) To give good color / 3T=&T W &a & forw

(d) To generate carbon dioxide /Wﬁgﬁlﬁﬁ-}g
3cTeel ¥ & folT

As which one of the following, does carbon occur in its

purest form in nature? /ﬁmﬁﬁﬁmmﬁmﬁ
g 3 3reY e[ ® H g &2

(a) Graphite/ﬁiq;lst

(b) Coal/ FIIT

(c) Diamond / 8RT

(d) None of These/éﬁﬁ'@a'ﬂé'ﬂﬁ

Which part of the alimentary canal does not secrete
any enzyme?

(a) Mouth (b) Oesophagus

(c) Stomach (d) Duodenum

The food that gives more calories per unit mass of
food is

(a) Protein (b) Carbohydrates
(c) Fat (d) Water
Percentage of oxygen supplied by hemoglobin is
(a) 97% (b) 100%

(c) 49% (d) 3%

In expiration, diaphragm becomes

(a) Flattened (b) Relaxed

(c) Straightened (d) Arched

Elbow joint is an example of

(a) Hinge joint (b) Gliding joint

(c) Ball and socket joint (d) Pivot joint

The toxic effect of CO is due to its greater affinity for
hemoglobin as compared to 0, | approximately by

(a) 2 times (b) 20 times

(c) 200 times (d) 1000 times

A patient is generally advised to specially, consume
more meat, lentils, milk and eggs in diet only when he
suffers from

(a) Scurvy (b) Kwashiorkor

(c) Rickets (d) Anaemia

In which of the following reptiles four chambered
heart is present?

(a) Lizard

(c) Scorpion

Melatonin is produced by
(a) Thymus (b) Skin

(c) Pituitary (d) Pineal gland

Which one of the following organs in the human body
is most affected due to shortage of oxygen?

(a) Intestine (b) Skin

(c) Kidney (d) Brain

(b) Snake
(d) Crocodile

101.Who among the following also had the name

Devanama Piyadasi? /faeaATolad H & fhdehr 118
SaeATAT TrTeTT 8T 2m?
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(a) Mauryan King Ashoka
(b) Gautama Buddha
(c) Mauryan King Chandragupta Maurya
(d) Bhagwan Mahavira
102. With which of the following centres of learning,
Chanakya the famous teacher of Chandragupta

Maurya, was associated? /fAFATaT@d & & fhds
A=t & shal #, Teared Al & gidg Riefen =moea
Rl
(a) Takshasila (b) Nalanda
(c) Vikramshila (d) Vaishali

103. Which event brought about a profound change in
Ashoka’s administrative policy? /372 T T a6

At 7 foha IRader & ITeT Ig et 31r?
(a) The Third Buddhist Council
(b) The Kalinga War
(c) His embracing of Buddhism
(d) His sending of missionary
104. Great Stupa at Sanchi is in— /Wﬁﬁﬂ%’lﬂﬂq%’-
(a) Uttar Pradesh (b) Madhya Pradesh
(c) Arunachal Pradesh (d) Andhra Pradesh
105. The monk who influenced Ashoka to embrace

Buddhism was— /sig €18 379TTeY & ToIT 3720k st

EEIECETGCICEEL S8
(a) Vishnu Gupta (b) Upa Gupta
(c) Brahma Gupta (d) Brihadrath
106. Which one of the following does not appear on the
abacus of the Sarnath Lion capital of Ashoka?

/TAFATATET & T et T 312Mb o TRATT R Fr
T & fog R fe@rg sigi arg?
(a) Bull (b) Dear
(c) Elephant (d) Horse

107. Who among the following historical personalities of
India is also known as Vishnugupta? /3T T

Tt Cfagriaes gl & & f fasopEed &

T O Y ST STaT 82
(a) Bilhana
(c) Patanjali

(b) Kalidasa
(d) Chankaya

108. Megasthenes was an envoy of which of the following

kings? /HTEYeATST fola=T 7 & Tohd T1STT bl gf AUT?
(a) Seleucus (b) Alexander
(c) Darius (d) Antiochus

109. Which of the following was the oldest dynasty of

India? /fAFATATET H A hleT HRA hT T IAT

NECKEIE
(a) Maurya (b) Gupta
(c) Kushana (d) Kanva
110. The division of Mauryan society into seven classes

was particularly mentioned in— /ara gait 7 # ga s

T AT [IAY T F Seot@ THAT 31T 2T-

(a) Kautilya’s Arthashastra’

(b) Ashokan edicts
(c) The Purans
(d) The ‘Indica’ of Megasthenes
111. Kamarup is an ancient name of which region of India?

/FTHETT AR & fha &3 T YT AT §°2

(a) Bihar/f[SgR (b) Rajasthan/IToTEATA

(c) Karnataka/aelTee (d) Assam/3THH
112.Which battle led to the downfall of the Vijayanagar

empire? /T TISTS & HRUT [ASIYIR ATATST HI

(a) Battle of Takkolam/ mﬁra@é

(b) Battle of Talikota/ cTellehIeT T oTSTS

(c) Battle of Kanwah/méﬁfﬂglé

(d) Battle of Panipat/tl'l?-ﬁ'qﬁﬁ?vlglé'

113.Who introduced Mansabdari system in India?

HR H HAGGRY JUTTH T &3 fohtet hr?
(a) Jahangir/aﬁ?ﬁT

(b) Humayun/gﬂ'lﬂ'i

(c) Akbar/3TehslX

(d) None of these/3sTH T IS &1

114. The ‘Cabinet Mission’ of 1946 was led by?
1946 & ‘hidac AT ST Adcd fohae fohar am

(a) Lord Linlithgow/ s forefereram
(b) Lord Mountbatten/ &lis HT3¢desT
(c) Sir Pethick Lawrence/ T 9fe IRy

(d) Sir Mountford/ T AT3EHIS
115. What did Gandhiji meant by ‘Sarvodaya’?

‘Hafezr { IS hT FAT AT 2T?

(a) Non-violence/31TgaT

(b) Upliftment of untouchables or Dalits/H@T?IlT
&foril ahr 3caTe

(c) The birth of a new society based on ethical values/

sAfcreh Hel O TR ST FHIS HT STe sl
(d) Satyagraha/dcaTdlg
116. Harsha moved his capital from to

e YIRS ¥ deumiand
& fea|

(a) Thanesar, Kanauj/ UTa8R, hesilol

(b) Delhi, Deogiri/ f&eelr, 2afary

(c) Kamboj, Kanauj/ ShaloT, Seailol

(d) Valabhi, Delhi/ Tecra, feealr
117. A collective term used by the Jains for their sacred

books is /Sl GaRT 3eTeht Tfes q&cehl & forw

ITNT FoRT STTY aTelT Ueh AT 26 &
(a) Prabandhas/9eeT (b) Agamas/ 3TITH
(c) Nibandhas/faeer (d) Charitas/aRdT
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118. Who propounded the “Doctrine of Passive

Resistance”? /“fa TS gfaRier 1 Rgra” fhast
gferaried feram?

(a) Balgangadhar Tilak/sTeldeTeR foieleh

(b) Aurobindo Ghosh/ 3Rfaer gy

(c) Lala Lajpat Rai/ oITelT oIToTdd I

(d) Bipin Chandra Pal/ ST =g grer

119. The first Muslim to be elected President of ‘Indian

National Congress’ was? /‘fTRciT TSI AT’
SERTRT T ST AT Ty T FleT A

(a) Maulana Azad/ ®IT=T 3TeTTE

(b) Mohammed Ali/ agmamﬁ

(c) Badruddin Tyabji/ SEe 1 JIeair

(d) Shah Wali-Ullah/ 2ITg ell-3ellg

120. Who has built the Vijay Stambha (Tower of Victory)

in Chittorgarh? /fIcclseTe & AT Ta#9T (<TaR 311
faaredl) & foraATor foraet famam am?

(a) Maharana Pratap/HgRIOTT 9dTq

(b) Rana Kumbha/ ITOTT 81T

(c) Rana Sanga/ {T0TT 4T

(d) Kunwar Durjan Singh/éﬁ?gﬂ?{ﬁg

121.The salary and allowances of the Governor are

charged to /W?WWWW?WW\’@
forar STarg?

(a) the Consolidated Fund of India/ $TRd T A Thd
Y

(b) the Consolidated Fund of the State/ IT= oAl
HHTh I

(c) the Contingency Fund of India/ HRA T

TR & AT ffer

(d) none of the above/gﬂﬁﬁafl’gﬂﬁ

122. Can a person act as Governor of more than one state?

/FIT IS TTFA T T 37T AT & AT & &
H I FTRATE?

(a) yes/gl

(b) no/aTgr

(c) only for a period of six months/ FHdd g Helel T
yafg & foaw

(d) only for a period of one year/ $dol Ush ay T
yafg & fav

123.What makes the Judiciary the guardian of the

Constitution? /=ITIUTToIehT ST TTAHTe T TI&Th il
AT &7
(a) Independence / EadFdT

8

(b) Service conditions/ &ar Fr FFufa
(c) Salary/ adeT
(d) Judicial Review/ =aTTAa GHTETT

124. In the Supreme Court of India the number of Judges

including the Chief Justice is now /W?Wqﬂ'&

82
(a) 20 (b) 21
(c) 25 (d) 31

125. On which of the following ground can a judge of the

Supreme Court be impeached? /faFAToiad # & fha
3MTEIR IR G h1E o Ueh =ATATENRT h FHgTiFITaT
frar ST asary

(1) Violation of the Constitution/ GTIITeT T Iectel
(2) Proved misbehaviour/mﬁw

(3) In capacity to act-as a judge/ Fararedrer h & H
T el T &THAT A

Select the correct answer using the code given below
/=) T 31T 1S T IYTT X FLT Scal ol ITed Y
(a) 1 only /ehaer 1

(b) 2 only /&deT 2

(c)1,2,and 3/1,2, 3T 3

(d) 2 and 3 only/adel 2 3R 3

126. What are the Panchayats in the three-tier Panchayati

Raj System? /FIEdIT TaTcH IST SIGTAT H TATId
FATE?

(a) Gram Panchayat/ I 9aTId

(b) Janpad Panchayat/\—rl?-rqati?ﬂ'q'a

(c) Jila Parishads/ Totem e

(d) all of the above/3udercT T

127.G V K Rao committee on Panchayat raj is constituted

on — /AT TT WX G V K T AT 7 375 he

IERIKIRIEE
(a) 1980 (b) 1982
(c) 1981 (d) 1985

128.The person who is appointed as Chief Minister /dg

caferd oIl HEa#H 1 & &9 # fgerd fhar Sar g,
a%'_

(a)should not be a member of either house of state
legislature/ T= TaemAhr & TR 3 Tea 1 deeT
STET gleTT ATfeT

(b)Should be a member of either house of state
legislature/ T faeTerT o TohaT 37 T FT TeTT
g arfge

(c)must possess the qualifications to be elected as
member of state legislature but not be a member of
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the Iegislature/ﬂ?ﬂ'%ﬂﬁﬂ*ﬂﬁ@*@ﬁﬂﬁ
STTet P TNTAAT Bloil AITRT, olfche] [T T TELT
SRIGISIHY

(d)should be a member of the legislative council only/

Shdel [aeTeT IRYE I TG glaT dIfgT

129.Who of the following is regarded as the head of the
state council of ministers? /faF=ITaf AT H & fohar
T ARG T FIE HATAT SATAT 82
(a) the Chief Minister/ﬁ'@qﬁ'fr
(b) the Governor/ T=T4Tel
(c) the Speaker/ dadT

(d) none of the above/3sTH & IS TG

130.A member of the council of ministers can hold office
without being a member of the state legislature for a

maximum period of /HATIIRYE &l Teh J&TT
TR dH 37af d T A& 1 Teeg da foar

9¢ X I§ Hhdll g
(a) three months/ cfleT AGIT (b) six months/&: HgleT
(c) one year/t‘ih'a'é (d)two years/aTa’éf

131.Which of the following wind is blowing from the
Mediterranean sea to the North Western parts of

India? /S[HETHTIR & $IRC & Sccll TIReH T H
A g g D yaa sgdig?
(a) Western disturbances / qgﬁﬂ%&ﬁﬂ
(b) Norwesters /ATdEel
(c) Loo /e
(d) Mango showers /BWG:I:Q'
132.Which layer of the earth’s atmosphere contains the
ozone layer? /tg%a“ra:a'rgﬁgsrﬁaﬁa’l?rwm
AT HgIAT g?
(a) Troposphere/ 3SUTehfea T
(b) Mesosphere/ FEIEHRIT
(c) lonosphere / ATIAHS A
(d) Stratosphere/!-_éa'\':w
133. Where is the Great Barrier Reef located? /?fl'dm
T el [Fuag?
(a) Pacific Ocean/ TITd HBTHTER
(b) Indian Ocean/ T&& HGTETRR
(c) Atlantic Ocean/ 3T dlleeh HBTHTIR

(d) Arctic Ocean/ 3Tehfeeh AGTERR
134. Among the following States, has the lowest

birth rate in India. /ﬁmﬁ@amﬁﬁ,
H R T TTH oA eI B |

(a) Kerala / Tt

(b) Uttar Pradesh / 3cc’ W&eT

9

(c) Bihar / 98
(d) West Bengal / 9T STl
135.Abu Dhabi is the Capital City of .

HYUET TSI MR g

(a) United Arab Emirates/ﬂﬂﬁﬂmm
(b) Netherlands/a'-ﬂm'SF

(c) South Korea/gT&IoT shITAT

(d) ttaly/geel

136. Dudhwa Tiger Reserve is in which state?
geraT 39N Roid fohdy I 3 872
(a) Karnataka/asiTceh
(b) Uttar Pradesh/3cd¥ 9¢2r
(c) Chhattisgarh/ScalddG

(d) West Bengal/9fR<r# aTTel
137.“Ganga Sagar Mela” fair is held in which state?

“IIM LR Helr” o TT A 3mAfaa fhar smare?
(a) Uttarakhand / 3cad1@s

(b) Uttar Pradesh/3cd? 9cer

(c) West Bengal / 9Td SaTTel

(d) Maharashtra/HgRTS

138. Growing agricultural crops between rows of planted

trees is known as — /oI3TTT 31T UST &l Gfaraat o &
1 el 3aTTeT T AT gl ST 52

(a) Social forestry/ HTHTTSISh aTfeichr

(b) Jhum Cultivation/slt\??@T—ﬁ

(c) Taungya system/ &aT YUTTeIT

(d) Community Forestry/ W@aa@ﬁ

139.A drainage pattern where a river is joined by its
tributaries approximately at right angles is

/U STl ferTaT et STgT Ueh o1d) 379eY
TGS SUAIRT GART TITHT HRIT I fATA &, I8
e ©
(a) Dendritic /&egiee (b) Trellis/ iﬁﬁ
(c) Rectangular / IR (d) Radial/ I3Ter
140.The core of the earth is also knownas .
RAFHAR __ FEIH N A SAAT 5
(a) Lithosphere/ TTTHS T
(b) Mesosphere/ HIEITHIIT
(c) Barysphere/S{ITHIAX
(d) Centrosphere/IeIEhRIAT
141.What is dew point? /37187 FIT §?
(a) The temperature at which an air becomes
unsaturated/ﬁwmwwwmﬁ
ST E

(b) The temperature at which an air becomes cold
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from warm/ﬁ?Wﬁ?W%ﬂTW@'é‘sﬁ'ﬁm
e

(c) The temperature at which an air becomes
saturated/%wmwwmmﬁaﬁﬁ

g
(d) None of the above/ 39R0eFd & & 15 §Y AT

142.Radiation inversion occursonlyon
fafor AT haer__ @are
(a) Air surface/ aTg A&
(b) Ocean surface/ #AGTHRR $I Tdg
(c) Land surface/ 8{cel
(d) none of the above/ 3TRYFd & T IS o TET

143.The comparative ratio between humidity of certain
area with the maximum limit is called

FE &1 T JHATGAT & JHTRIeherst WA & W &
JoTeTTcH e 3eTdTc I T gl STl &2

(a) relative strength/ TTI&T &7 dT

(b) relative humidity/ GTafaYe 3T

(c) ultra humidity/ 31T 3TT&aT

(d) mild humidity/ §e<hT 3TeaT

144.Marbles are formed due to change in

# aRadet & HRUT AT T fAATOT gIdT &
(a) Clay/ Tareretl TAEY
(b) Limestones/ TeIT IeX
(c) Sandstones/ ST 9
(d) Granite/ H)'HTEFE
145.Loess is a /Ty T =
(a) Loss of rocks/ TETAAT T &7fcr
(b) Animal deposited sediments/ qagﬁfﬂvcrm
(c) Water deposited sediments/ 9TaT fafared 3radre
(d) Wind deposited sediments/ &aT faf&Tcd 31@dTe

146.At Barren Island, the only active volcano in India is
situated in /éi?ra?:ﬁtrw, AR T ThATT fshdT
e T e i
(a) Andaman Islands/ 3/SHTe a\a“rtrw\s

(b) Nicobar Islands/ ﬁwa@qﬂﬁ\%’

(c) Lakshadweep/ (‘*I'&:laﬁ'q
(d) Minicoy/ A=
147.The depletion in Ozone layer is caused by

/35 9 A RiFaaor
& HROTRI 5|
(a) Nitrous oxide/ ATSEH TFATSS
(b) Carbon dioxide/ ShTeT STS3TFATSS
(c) Chlorofluorocarbons/ FARTFAIRIhTeT
(d) Methane/ #1dsT
148.)Japan is called the ‘Land of the rising sun’ because-
ST &l ‘33T FIST T $1TA el STl § FTTeh-
(a) Sun rises there as soon as it sets / aﬁléﬁ@'
FIEA TS, I FI 3T grare

(b) Sun always remains in the eastern part of the sky
throughout the day in Japan/ amaﬁqjﬁ?ragfr

GHRT TSI o YT GEH H TGl 6.

(c)Japan being the Eastern most country in the world,

it has the earliest sunrise WWWW@
qer g, FgT GG e g gIaT e

(d) The rays of the sun get reflected from the waters of
the sea and make the sunrise beautiful in Japan/ﬂ:{?ﬂ
1 foreot wegs & Il @ afafafaa gie § 3i smare
AT 1 FeX T 8.

149.The Himalayas is the example of
oo SI3cTeRoTE]
(a) Fold mountains/ afeld gad
(b) Block mountains/ SelTsh 9dd
(c) Ancient mountains/ 9Tdlel 9813
(d) Residual mountains/ 37aTUSe JgIS

150.0ne of the leading producers of asbestos in the world
is : /AT & TEIESH & T T Sculeent # A Th g:
(a) Australia/3fTEeforaT
(b) Russia/&H
(c) Canada/ehdITST
(d) Armenia/ 3THETfaAT
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